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Please, provide the substrates or products and mechanisms for the following transformations
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4-anisaldehyde, BulNC

NH,

A Au(PPh3)OTf, B
D CDCls, rt
N MeOH, rt 85%
H 82%
m/z 445.2365 (100.0%), THNMR ..., 2.21 (s, 3 H), ...
446.2399 (29.2%). HSQC [two protons are directly
attached to non-carbon atoms]
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N MeOH, 50 °C N\ CDCls, rt
H N / / 65% (over 2 steps)
H THNMR ..., 2.17 (s, 3 H),
., 145(d, J=7.4Hz, 3H), ...
HSQC [only one proton is directly
attached to a non-carbon atom]
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(PhSe), (0.05 eq.),
" PO(OEY,

G

T4Hg'f,}” m/z 487.0888 (100.0%),
° 488.0922 (21.6%).
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Cul (0.025 eq.),
J|\ Pd(Phs),Cl, (0.050 eq.), H
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0 t§’5§£ c 13C NMR 196.3, ...

m/z 309.1154 (100.0%),
310.1187 (23.8%).

PhNH,, PhCHO
FeCl3 (0.10 eq.),
_——
MeNO,, reflux
54%

[hint: MeNO, serves
also as a reagent]
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m/z

H NMR 7.58-7.41 (m, 11 H),
2.50 (s, 3 H), 2.03 (s, 3 H).

275.1310 (100.0%),
276.1344 (20.5%).



